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for the questions
1. Choose the correct answer : ; 1x5=5

(a) In which year was the ‘Asiati
ti .
of Bengal’ established? o Soclely

@ 1754
(i) 1784
@) 1801
(iv) 1900
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(b) Which tri i

the Centrlz %t;)rtlte cft? l:;:xvc‘l'izg pelongs to
() Chenchu |

(i) Bhil

(iii) Gurung

(iv) Irula

(c) What is the litera ‘
e literacy rate of ST i
to the 2011 Census? According

) 59%
(i) 64-6%
(i) 80-99, .
(iv) 46:1%
(d) The reseérch "pa‘l'Jelh",
Caste in Ra
by .
\ : (l) L. p, Vidyarthi
(@) 'S. C. Roy
() M. N. Srinivas
‘ (iv) s. C. Dube
() Which  following  Articies -
of the following Articles
. . . 1
the' Indian " Constitution Crelatey

The Dominan
t
mpura (1959) was authored

::; ;g;lcational and ‘cultur li;af::uaat:g
) 15(4) ) |

(i) 29

(iii) 66

(i) All of the above
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2. Write short notes on any two of theA
following : 5x2=10
(d) Concept of Ashram
(p) Constructive period - of Indian
Anthropology

(c) Sanskritization and Parochialization

(d) Pseudotribalism

3. (a) . Write about both traditional and
contemporary approaches to study
Indian society and culture. .. 10
Or

(b)) Describe about the racial elements
found among the Indian population.

4. (a) Write about the Indian caste system

and its economic and cultural
impact on society. 10
or
(b)) Write about the contribution of one
contemporary biological anthropologist.
5. (a) Discuss the land alienation problem
of Indian tribes in detail. Suggest a few
remedial measures. 6+3=9
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6. (a)

(b)
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(4)

Or

Foster light on the health
and nutritional problems of tribal
population of India. Incorporate a few
suggestions for eradication of poor
health condition of them. 9

Define dominant caste. What are the
features through which a caste can
be identified as dominant caste? 1+8=9

Or

Describe  the exploitation and
deprivation of SC, ST and OBC from
historical perspectives.
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